25 [ SRS T AIZEE T 2 | 1
A EESIGIH il e P MESi] 7 Rz 38
X i 5 4 3 2 1 [mmz] FE 5 4 3 2 1 [z ¥
L. oI Altho R DSV ET A% | 32 | 3 6 1 0 0 [4.57 | 33 | 2 3 0 0 0 [4.79
2. 7 00/ SRROBE S, XFEb T VeI, | 21 1 6 0 1 0 [4.05 | 32 | 2 3 1 0 0 [4.71
3. HEDORAEDDIRT VD, 21 5 14 2 0 0 [4.07 | 33 3 2 0 0 0 [4.82
4. B EDEA A TLEeI CI 2, 26 | 6 0] 0 0 0 438 | 34 | 2 2 0 0 0 [4.84
5. uﬂunﬂfv/r R SRR I EI T3 7, | 31 5 6 0 0 0 [4.60 | 34 | 2 2 0 0 0 [4.84
B0 I NET A, | 29 | 6 5 1 1 0 [4.45 | 35 1 2 0 0 0 [4.87
_)}W‘" DN IR ’C%iu"# 5] 7 6] 0 4 0 [3.69 | 26 | 6 5 0 1 0 [4.47
8. DTl Lo IO E LT 27 | 8 6 0 1 0 [443 1 28 | 4 6 0 0 0 1458
e ES R BRI I T o
- ESiaEIE] ki [ I S T RS
4 il 5 4 3 2 1 ] E | 5 4 3 2 1 [HEp] P
1. Vo Ao (R FMEAV O ET 2. | 29 1 9 1 2 0 [4.29 || 31 2 4 0 1 0 ]4.63
2. BT 0 =7 AFROEET, TFEDIORTOTT D, 26 5 8 0 3 0 4.21 28 3 6 0 1 0 4.50
3. HEDORAEDDIRT VD, 22 | 5 8 1 6 0 [3.86 | 29 | 5 4 0 0 0 [4.66
1. FEEDOEL B ITmE) I A 21 4 12 0 5 0 [3.86 | 28 2 7 0 1 0 [4.47
5. Al L R —h - R R sl m B T3 2% |17 | 4 9 3 9 0 [3.40 | 22| 4 8 2 2 0 [4.11
6. RPN U C LV C W ET 7% | 25 | 6 5 0 7 0 398 27 [ 3 6 1 1 0 [4.42
1 REONR IR CEELTD, 5 4 17 | 4 12 ] 0 [267] 22 6 9 0 1 0 [4.26
8. DTl Lo DIV E LT 22 | 6 11 0 3 0 [405 | 321 3 3 0 0 0 [4.76
HE A ESRS BN T | |
¥ ESiaEIE] B [ I S T iaE] 0
4 il 5 4 3 2 1 [fEpE] E | 5 4 3 2 1 | Y
1. VT AR O FEmSILCVES A% | 35 1 6 0 0 0 [4.69 Ehfize]
2. BT B AFRmO R T, CEEpRT Ve, | 23 2 11 3 3 0 [3.93 EQIAE
3. HEDORAEDDIRT VD, 22 5 8 1 6 0 [3.86 FihizaL
1. FEEDEL E A Tm) I A 30 2 10 0 0 0 [4.48 Ehir]
5. A EL R — R kg e M <3 2% | 32 | 3 6 0 1 0 [4.55 Tt
6. RO P U C LV SV ET A | 28 1 9 2 2 0 [4.21 izl
1 REDONRI I CEELTD, 26 | 4 7 1 4 0 [4.12 FehiraL —o— R
8. O BICL oA DIV A E LT, 31 4 7 0 0 0 [457 izl i
¥ 1B SR D RU2AE L T I L
o 5 i 2] ik A 42 ES IR 1% sl 0
4 il 5 4 3 2 RS RS 4 3 2 1 [HEwl] P
T Vo Alipo CRENEMSILC O FE3 2% | 34 | 2 5 0 1 0 ]4.62 S
2. BT 0 = FFROEET, TFRDIIRT VT, 21 4 11 2 4 0 3.86 FEhraL|
3. DA RT VD, 17 7 10 2 6 0 [3.64 JehizeL
1. DL LM I A 28 3 8 1 2 0 [4.29 JehizeL
5. T EL AR — R SRR @ U T3, 31 4 6 1 0 0 | 4.55 SeHiTaL
6 ROINCHBLCE VR ELEENET 2, | 25 3 9 3 2 0 [4.10 il
7. DN CEELTD 14| 5 10| 4 9 0 [3.26 Fehirs ] T
8. N2 AN UL S A 30 | 4 7 1 0 0_[4.50 izl —o— %Ik
B C FRRIE 2L FT | B
- ESmiI] CIiE: K i 4 1] %391 | 38
X il 5 4 3 2 1 |sEerg] SER ) 5 4 3 2 1 [fmmz| ¥
T Vo AR CR BN ERSILCOE] v Tzl 31 2 5 0 0 0 4.68
2. BT 0 = FFROEET, TFDIIRT VT, FEha L 19 7 8 2 2 0 4.03
3. HEDORAIEDDIRT VD, L] 18 6 10 1 3 0 [3.92
1. DL LA Tm) 3 A gzl 25 4 8 0 1 0 |4.37
5. R EEL AR — R BRI L@ U T3 A, SizeLf| 30 5 3 0 0 0 [4.71
6. 1B A M HIBIL CILV R B ER O ET 7, FehiaL]| 23 7 6 0 2 0 [4.29
7. R DN CEELT D, Jeizel| 17 5 12 1 3 0 [3.84
8. DB Lo W IROFLA £ LT | 23 | 7 6 0 2 0 [4.29
PN ESmRi RPN 2 I T1
HeE1D TR Rkl 7 TR T A 58
54 il 5 4 3 2 EREEEEE] 4 3 2 L[] P
1, /wwz«c.oﬂxw TSIV ET A Tl 33 | 2 2 0 1 0 [4.74
2. BT 0V =2 A FRROEE ST, IO RTNTT A, FhizL|| 16 4 11 1 6 0 3.61
3. R DORAIEDDIRT VD, Fhizel| 14 5 11 2 6 0 [3.50
1. B DS LA Tmb) 3 A Jeizsl| 25 5 5 1 2 0 [4.32
AuHrlhjﬂzLVJv—I* IR T B T Sl 28 | 4 5 0 1 0 [4.53
6. B A HICFIBIL CLV R B ER O ET 7, FehiaL]| 22 2 9 1 4 0 [3.97
7. R ONBII L CEELT D, JiizeL| 21 4 6 3 4 0 [3.92
8. DB Lo W IROFLA £ LT il 23 | 6 7 0 2 0 [4.26
b1 ESmRi RPN 2 I T1
- ESRIi] ] 12 | e (3 RS
e i 5 4 3 2 1 SERC 5 4 3 2 1 [fmer| ¥
1. Vo AIh oﬂx%ﬁ;hﬁ nCwEdas | 33 | 3 6 0 0 0 ]4.64 | 33 1 4 0 0 0 [4.76
7Yy ZFROEEST, LFEDHRTNT T, 25 4 9 0 4 0 4.10 23 4 10 0 1 0 4.26
ORI Vs, 21 4 12 1 4 0 [3.88 | 23 1 3] 0 1 0 [4.18
1 EDOEL A TEmE T o, 24 | 5 2] 0 1 0 [421 | 30 | 4 3 0 1 0 [4.63
5. AT EL A — - iR e 5 LB C ) A% | 31 3 7 0 1 0 [4.50 | 31 3 3 0 1 0 [4.66
5 FICABT L CEV R R SV ET 2% | 26 5 8 1 2 0 [4.24 | 25 6 4 0 3 0 [4.32
= ! 3] 9 3] 2 5 0 [3.55 | 21 7 8 0 2 0 [4.18
8. ZOFEEICL D WBOMLAEL 20 27 7 8 0 0 0 [4.45 | 27 6 5 0 0 0 _14.58
N B o FI2AE L 2 | 1
A ES I HiEl] RhA] 42 ]| TR 3l ENED
B il 5 4 3 2 EREEEEE] 4 3 2 L[] F
1. 7 Al ip> RN TSIV ET A% | 32 | 3 7 0 0 0 [4.60 | 32 | 2 4 0 0 0 |4.74
TV ZFROEEST, LFEDHRTNTT . 26 5 11 0 0 0 4.36 29 2 6 0 1 0 4.53
ORI TV, 26 | 7 3 0 1 0 [4.36 | 25 | 3 8 0 2 0 [4.29
1 EDOEL A TEmE T o, 32 | 3 7 0 0 0 [4.60 | 30 1 6 0 1 0 [4.55
5. Al EL A —F R S e <3 A | 32 | 4 6 0 0 0 (462 | 31 | 4 2 0 1 0 [4.68
5 i O HCFIBT L C RV T e e LBV ET Ay, | 32 4 6 0 0 0 [4.62 | 25 5 6 0 2 0 [4.34
|7 DN IR CE ELTA 30 | 5 | 7 [ o] o[ o455 27 4 | 5 1 1 0 [4.45 ;
8. ZOF B LoD DIRVFHAEL T, 31 5 6 0 0 0 | 460 | 29 | 5 4 0 0 0_|4.66 s —e—HMER




HEE B ES R BN EZE T T T
A ESHEI iR TRE] 2 | TR i) PN .
B4 i1 5 4 3 2 1 [gEms] R 5 4 3 2 1 [ feEm] F
1. U7 Ao (RN ERSAVCVET 2 | 37 1 4 0 0 0 [4.79 | 34 1 3 0 0 0 [4.82
2. BEST 0V RROEET, XFEbMRTOTTh, | 34 3 5 0 0 0 [4.69 31 1 6 0 0 0 [4.66
3. DRI T D, 36 3 3 0 0 0 [4.79 | 32 2 3 0 1 0 [4.68 ] m7Q( w9 FE3
1 EDEL R A TmO T o, 34 4 4 0 0 0 [4.71 | 33 2 3 0 0 0 [4.79
5. Al G IEL A — R - RBRETES LB T 2y | 37 1 3 0 1 0 |4.74 || 32 2 4 0 0 0 1474
6. AN CEVRELEIVET 2, | 35 2 5 0 0 0 [4.71 | 30 4 4 0 0 0 [4.68
5 NS CE EUT-0% 34 4 4 0 0 0 [4.71 ] 32 2 2 1 1 0 [4.66 —o— AT
FICL SO BOFAAELT 33 5 4 0 0 0 [4.69 | 32 3 3 0 0 0 [4.76 fis —o— i 5
: SN ESi RS AN A | 11 -
ElAa=f—avl g ikl a2 | FRE 5 TR
B il 5 4 3 2 IR EES 4 3 2 1 [emgs] 8y
I U7 A O BN TSI COET 2% | 29 3 10 0 0 0 [4.45 | 32 1 5 0 0 0 [4.71
2. BT a2 S RO EE S, UFIXbhIRTNTT 22 7 13 0 0 0 4.21 29 1 8 0 0 0 4.55 5] 5]
3. RO T VD, 23 7 11 1 0 0 [4.24 | 32 1 5 0 0 0 |4.71 7 3
1 EDEL B A TmO T o, 26 6 10 0 0 0 [4.38 | 33 1 4 0 0 0 [4.76
5. Rl )7 TR TR — - AR e S om B) C 9 A% |29 6 7 0 0 0 [452 | 32 1 5 0 0 0 [4.71
6. AN CEVEEL LV ET 2, | 28 5 9 0 0 0 [4.45 | 35 2 1 0 0 0 [4.89 4
7. HEDONE TR CE LT 20 7 14 0 1 0 [4.07 28 4 6 0 0 0 [4.58 —e—iHER
8. ZOREILL S VIRDFEAELTD, 29 6 6 1 0 0 [450 | 31 4 3 0 0 0 [474 B —e—#iER
Sl FEN BRI EaE | 1-1 :
LTI g ki A 2 ] FRm {3l EHE] % >
B il 5 4 3 2 IR EES 4 3 2 1 [emgs] 8y
I U7 A O BN TSI COET 2% | 22 4 16 0 0 0 [4.14 | 29 1 8 0 0 0 [4.55
2. BT eV 2B ROEE T, SUFIXbhIRTNTT 23 4 15 0 0 0 4.19 28 1 9 0 0 0 4.50 5] 5]
3. RO T VD, 24 6 12 0 0 0 [4.29 | 24 5 9 0 0 0 [4.39 AR O )3
1 EDEL B A TmO T o, 27 3 12 0 0 0 [4.36 | 28 1 9 0 0 0 [4.50
5. Rl 7 IR TR — e AR e S om B C 9 A% | 26 4 12 0 0 0 [4.33 ] 25 5 8 0 0 0 [4.45 \ /
6. R ATNCHBL CEWRELREEVET 2, | 30 2 10 0 0 0 [4.48 | 27 2 9 0 0 0 [4.47 Pk 2
7. REDONRE TR CE LT 21 5 16 0 0 0 [4.12 | 21 4 13 0 0 0 [4.21 6 g —o e
8. COR I Lo D OFIA LA 29 4 8 1 0 0 [4.45 ] 25 4 9 0 0 0 [4.42 i




